th& 2314 BC // DE // FG € ), xy
o] gh& st




th 194 AD // PQ//BC ©]il, M,N
Y 247 ¥ AB,DC 9] Z4o|tt. AD =

6,BC =10 & o, A& PQ 9] Zol=7?

@1 @2 ®3 @4 OF5

S~j0---"



i% JE.OM AD = AABC 9] &4 o]t} A
AP =PQ = QD ©]1 AACD =24cm? &
o, ABPQ 2] H o5 F5toizt. p

oo
)
Q

@ 6cm? @ 7cm? ® 8cm?

@ 9cm? 3 10cm?



S 88 = A A 9 B Atolo] AYE 7
st 1 =t Aok, oluf, A, B Ao 9
A=E otk




RS FA9IE A uf 4 Mk ZAL 5 Bk 2 o] 2 9]
9

® 2 7HA @ 3 714 ® 4 714
@ 5 714 ® 6 7FA



@ 12 A
® 20 7H

n=

2 B o3 A
olo] A gH5

® 15 7N



HAlolwA Q] Wol| 1 oA 12 747 o] A 57} ZhzF AT AL}
oltk. o] FAH9IE ¢t W A uf, T A o] AALIt g FEL 3
o] vjs=9] 2o & HE-2 At 2 F5HH?

@ ® ® @

| =
Qo | =
N
N
N
LR
| =
] =
| =
N | —



=2 = L o g
= = T IS
9l o 9] oA}
A7} 4
F9] a7
| 9 o e
O/\] Ji)
Z/\]_O
2 7he] =
8.

29

)

| =
| =
| =
o | =
DO | —



)

= oA A=

ot

9.



N o)
o) 0_1_
MV—.M_M ,._.Zo
ClCE
o X
m K
B
z U
“W jans
ma o
M
or M
ojp ofn

b

10. ot

olp

R

wn
wn
25
@)
@)
25|
<
©

i1

)

op

p:

T

@ ADEC(AA

)

olp

o

® ACDE(SSSH
(
® ADEC(SAS

olp

R

T

SSS

@ ADEC



11. & 1989 AABCYA AE = BE =
AB=12, BD=8, CD=1¥ uj, AC<] Zo]

@D 9cm @ 10cm 3 11lcm @ 12cm 3 13 cm



fof Letjolat,

EaEAES




13. o2 199 AABCOlA AB2 FHo] A D, ACY FHo] HEY
o, x +y 2] 2 F5toiet




14. A ®9 AolZt A2y non+ 1, n+2 0 A
o] 3= stofeh

s
=¥



15.



16. o5 2" 2ol /A =90° o A4
ABC ] 4 A |4 BC ] 141%1 e
H et & o, B7]oq &2 AL BT
2.

[17]]

]
@ ¢ =ax © bx=cy © b2 =ay
® bc = ah @ a2 = be @ K = xy




17.

1} 2o

A=

o]-/\]

o Aol7k 5 Q1 A4

]7r60 ol wj, ZAtz+e Q] g ZhAl
|

A

/
1
S5cm

\

B



18.

the 183} Zro] Yol 7} 60cm2
g ABC 9|4 BC = 10cm ¥
T-otofet.

0] o] = H A}

R

,AB ¢

“~10cm- -~



19. AgolA d7747 o7bE wEWo] sho] Hjs)E 43], 72
73], WAL 957} chdeha stk Agold g7l 7k A9l

g FohH?

® 12714 @ 13714 ® 15714
@ 177HA4 ® 20714



20. 1, 1, £9] Zgo] HolA Q= 374712] FhEet |, 1, 19| mgo]
WolA Qi 3714 9] AhEs} Qch. A4S 1749 Bg 175 27 of
9S4 Qe 2L BT 9 A7)

@® 3714 @ 6714 ® 7744
@ 9717 ® 107}



21.

® 2cm, 2cm, 1cm?
® 3cm, 2cm, 1cm?

® 4cm, 3cm, 2cm?

e a7 3
59 429 4 %
d ABDEE ¥

ACS] Zo], CH| Z4o],oFGHC p ‘

@ 3cm, 1cm, 1em?

@ 3cm, 3cm, 2cm?



22. thg 19| DABCD o4 B2l AC S BD £ A2 Hweka glet,
o] mEE H e S AN — 2, B — 3, CD — 5 <
AD? + BC? 9] g2 Fspoiel.




23.

2% 121 20| HEHHA
AABCZ QU &
19
1, , C(6, 1) AtO]<







25.

r a
o a
mu o,

=
w

rlo

I‘Ir W =



